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Algebra 2 4.7
Write a quadratic function i@

Transform quadratic functions —
quadratic o
vertex \ A
completing the square VN I/
vertex form \
parent graph .
transformation (Ch. 2.7) \0 1
b 4
y=x?—4
HEEER!




Write in vertex form, identify the vertex.

Practice . ) o)
1Ay =| +4x 46 L '..q;
-L -4 ey
‘3"'01- Y+ Yx + 4 \‘-\V\'\ (o,b)



1B. 3;42.1-3 — 12xH 17

-1 =17
y;'1e > (x%6x +9 )

X-3

'j*' A(x ?)

Y= a(x 3)-:

Write in vertex form, identify the vertex.




Write each function in vertex form. Identify the vertex.
Ly=x*+6x+2 2. y=—-2x*+8x—5






From Ch. 2.7...

ConceptSummary Transformations of Quadratic Functions

fix)=alx—h?+k

h, Horizontal Translation
h units to the right if his positive
| h| units to the left if h is negative

h=0

A AE

/1 1f

- Hh<oHoHh>o H*

k, Vertical Translation

k units up if kis positive
| k| units down if k is negative

Y *\ A4 4
\ /1
\ A
k>0[\ flk=0]
\ o X
N /
[k<o0]




a, Reflection a, Dilation
If a > 0, the graph opens up. If | a| > 1, the graph is stretched

If a < 0, the graph opens down. vertically. If 0 < | a| < 1, the graph is
compressed vertically.

% : |a|1>l1 A4 |a|=1.I

\[ [ [/la>0 W \N A/ A
/ 0<lal <1
X B 0 X




Graph: use parent graph (instead of plotting a million ordered pairs)
Practice
3A. y=(x—3)> -2




Graph each function.

5. y=(x—3)2—4




Write equation in vertex form and graph
14, y = 2.1’2 =l e 7 Parerf gragh?




15. y = 3x* + 10x




3. y=4x>+24x +24




6. y= —2x2 +5




.3/25(1‘4—6)2—8




3B. y = 0.25(x + 1)?







